四上 數學練習簿 第13回解答

第一大題：

(1) 628－(43＋57)＝528

(2) 126－(137－46)＝35

(3) (963－753)－80＝130

(4) (4368÷21)÷13＝16

(5) 3234÷(14×7)＝33

第二大題：

(1) 連 (30×3)÷5＝(18)

(2) 連 (30÷5)×3＝(18)

(3) 連 (30＋6)×3＝(108)

(4) 連 (30－6)÷3＝(8)

【連起來會像上下兩個 ×】

第三大題：

(1)(130＋40)＋80‧　　　　　　　　　‧(130－40)＋80

(2)(130＋80)－40‧　　　　　　　　　‧(130－40)－80

(3)130－(40＋80)‧　　　　　　　　　‧130＋(40＋80)

(4)(130＋40)－80‧　　　　　　　　　‧(130－80)＋40

第四大題：

(1)　　　　　　　　 (2)　　　　　　　　(3)

(56×14)÷49          (378÷21)×3　　　　 (24×6)＋(24×7)

＝784÷49           ＝18×3            ＝144＋168  

＝16               ＝54              ＝312

答：16顆           答：54顆         答：312張

(4)                 (5)                (6)

 (185×15)－250      (127＋159)÷11　　　(120－75)÷9

＝2775－250        ＝286÷11           ＝45÷9

＝2525             ＝26               ＝5

答：2525元        答：26袋           答：5顆

